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50Hz PWM signal from radio control car receiver is connected to dpPIC33 IC2 pin
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Yellow: source
Green: reproduced with output compare

[image: image3.png]B RealTerm: Serial Capture Program 2.0.0.57

Display |Port | Capture | Pins | Send | Echa Part| 12

Display As

EERRRRRRRELRE)

Ascii ¥
Ansi
Hexfspace]
Hex + Ascii
uinig

intg

Hex

intl6

uintlE
Ascii
Binary
Nibble
Floatd

I Half Duplex Binary Sync Chars
[” newLine mode |ABCD
[~ InvertData
&
Data Frames

Bytes |2 %

= Ch
[~ Single _Gulp o Change
Rows _ Cols

Terminal Eont| [16 o 2] I scroliback

|izc2 | An| Clear| Freeze| |

Syne
Data | &

XOR | ¢~ A

=] anp O

[ Leadi

Status
Connected]
RXD @

D (3)
CTS @
DCD (1)

DSR (6)

Ring (3)

BREAK

Enmar <





UART data 03FD hex = 1021 decimal

IC2max is 12499

1021 / 12499 = 0.0817

i.e. 8% duty cycle—matches oscilloscope
Note IC2 max = OC2 max in Matlab Workspace

